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THE  CANDIDATES MUST READ THESE
INSTRUCTIONS CAREFULLY BEFORE ATTEMPTING
THE QUESTIONS IN THE QUESTION BOOKLET.

1.

8.

Please refer the backside of the Question Booklet

for more instructions.

40 pages. If any discrepancy is found, report to the

“in the Question Booklet).

Mark carefully your Roll Number, Application
- Number, Question Booklet Number and Questlon
Booklet Series on the OMR Answer Sheet and sign
at the appropriate place. Write your Roll Number
and Name on the Question Booklet. In the absence
of Roll Number, Application Number, Question
Booklet Number and Question Booklet Series on
the OMR Answer Sheet, it may NOT be evaluated
and it may be cancelled.

The entire Test is of Objective Type Questions
comprising 200 - questions. AlIl questions are
compulsory. Each question carries One Mark. There
is no negative marking for any wrong answer.
Questions are in both English and Hindi.

The candidate must check that the Question
Booklet contains 200 multiple choice questions in

invigilator immediately.

Chosen options are to be indicated only on the OMR
Answer Sheet, as per instructions given on the
OMR Answer Sheet, taking care to enter the
answer in the space provided in the OMR Answer
Sheet for the concerned question number (as glven

The candidate must use a BLUE/BLACK ball point
pen ONLY to make entries on the OMR Answer Sheet.
Rough work may be done on the space provided in this
Question Booklet, but not on the OMR Answer Sheet.

At the end of the Test, the candidate must submit
the OMR Answer Sheet to the invigilator on duty.

Candidates are free to take away their Question
Booklet with them.

In case of any amblgulty in translation of any
question, English version shall be treated as final.
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~ following ?

(A) .Superscripty

Which of the following is related to Stack

operation?
(A) Push andPop B Dequeue
(C) FIFO (D) Enqueue

Pressmg Ctrl and the Equal sign (—-) at the

same time is 2 shortcut for which among the

(E) Subscript
(C) AllCaps

D) Strikethrough

The Spelling & Grammar feature in MS Word
2010, can be found under which of the

following tabs ?

(A) Insert (B) File

(C) Review (D) View

For File Explorer shortcuts, Alt + D is the

shorteut for which among the following ?
(A) Select the address bar

®) Open‘ 2 new window

(C) Create anew folder

(D) Select the search box

Ctrl + Down arrow ;s the shortcut for which of
the followmg 7 .

(A) Move the cursor to the beginning of the

previous paragraph
(B) Resize the Start menu when it's open “k

(C) Move the cursor to the beginning of the
next paragraph ‘

(D) Move the cursor to the beginning of the

previous word
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(A) 110110

(B) 110111

(C) 110011

(D) 111001
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(B) 12

(C) 16

D) 22

FYET F HEEls T HIGE HAE (CMOS)
e daFrg 2 |

(&) FifEeHee Too siFaTEs ATy

(B) FFET HE AT een

(©) T T AR few

(D) FIUT BT AtaaTse FHFeeT

ASCII P amemT §, AT es A 74w
(A) TR A-J

(B) H®AT0-9
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|10.

Alt + Spacebar is the shortcut for which

among the following ?

(A) Open the shortcut menu for the active

window ,
(B) Stop or leave the current task
©)

(D)

Select all items in a document or window
Open Task Manager

Which of the following is the binary equivalent
of the sum of decimal numbers 23, 24 and 7 ?
(A) 110110

(B) 110111

©) 110011

(D) 111001

ASCII code 56 represents which among the
following ?

A) 8
B) 12
C) 16
D) 22

CMOS present on ﬁmtherboard of a computer

stands for which among the following ?

(A) Complementary Metal Oxide
Semiconductor ‘

(B)

©

(D)

Compuﬁng Madé Operating System
Computer Memory Operating System
Common. Metal Oxide Semiconductor

In the ASCII code table, codes 65 to 74
represent ‘

(A) Uppercase A-J

(B) Numeric 0-9

(C) Lowercase k-t

(D) Lowercase a-j
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(A) winword.exe
(B) word.exe
(C) msword.exe
(D) word2007.exe
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14.

15.
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" (A) Transition

- (C) Home

- Which of the following term refers to a specific

set of values saved by Excel to automatically

substitute into the worksheet ?

(A) Range (B) Scenario

(C) Trend line (D) Consolidate

What is the location of Name box in MS
Excel ? ’

(A) Appears on the right side of the formula

bar

(B) Appears on the left side of the formula 7

bar ,
(C) Appears below the status bar

D) :Appears above the menu bar

In computers, which of the followingv is used to
open MS Word document from the command

line ?

(A) winword.exe
‘(B) word.exe
(C) msword.exe

(D) .word2007.exe

In MS PowerPo‘int, under which tab will you
find Layout, to apply a defined slide layout to

a particular slide ?
(B) Review
(D) Animation -

To add a hyperlink to a file on the computer,

~ select the text or picture and then select

hyperlink from tab.
(A) View (B) Home
(C) Insert (D) Format
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(B)

D)

16. Which of the following is mot a transition

effect in PowerPoint ?
(A) Checkerboard (B) Blink diagonal

(C) Ripple (D) Flip

Which of the following is a Section Break
Option in MS Word ?

17.

(A) Previous Page (B) Next Page

(C) Break Page (D) Even Page

18. How can you remove borders applied in cells

in MS Excel ?

(A) On the Insert tab, in the Font group, click
the arrow next to Borders Button image,

and then click Delete Border

(B) On the View tab, in the Font group, click
the arrow next to Borders Button image,

and then click Remove Border

(C)* On the Home tab, in the Font group, click

’ the arrow next to Borders Button image,

and then click No Border

(D) On the Edit tab, in the Font group, click
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the arrow next to Borders Button image,

and then ¢lick None Border

19. In PowerPoint, presentation designs are

commonly called which of the following ?

(A) Design 'Plates (B) Design Templates

(C) Placeholder (D) Spreadsheet

920. When a cracker attempts to misuse or steal

data from a system, it is called

‘ (A),‘ Stealing (B) Intrusion

(©) Virus (D) Worm

(D) aH
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35.

36.

37.

38.

39.

~ following options :

- (D) Psychriatist
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Choose the correctly spelt word from the

(A) Acheive
(B) Homogeneous
(C) Effoarcement

Choose the correct option that forms a
meaningful complete sentence : o

her / Mumbai / because / seeing / stopped / she |

/moved / 1/to.

(A) She moved because I stopped to Mumbai

her seeing.

(B) 1 stopped her seeing she moved because

to Mumbai.

1 stopped seeing her because she moved
to Mumbai. ‘

She moved to Mumbai I because stopped
seeing her.

©

(D)

What is meant by the idiom to "See eye to
eye" ?

(A) To look straight

(B) To agree with

(C) To have a conflict

(D) To speak the truth

Choose from the following options, the tense of
the given sentence :

I'd been waiting an hour for the bus.
(A) Simple Past _

(B) Present Perfect Continuous

(C) Past Perfect Simple

(D) Past Perfect Continuous

Choose the appropriate one word substitute

for the given words/sentence :
A person who has too much of self admiration.

(A) Somnambulist
(B) Fugitive
(C) Ambidextrous

40.

41.

42,

(D) Narcissist’

(8 -C)

43.

44.

Choose the antonym of the given word from

the following options :

Impudent

(A) Insolent
(B) Snippy
(C) Uncivil
(D) Polite

Fill in the blank with the appropriate option :

Jack and David are friends and - play
basketball together. '

(A) them
(B)- she
(C) they
(D) he

Fill in the blank using the appropriate option :

People drive ___ fast in New York City.
(A) two |

(B) to

(C) too

(D) tou

~ Choose  the correctly spelt word from the

following options :

" (A) Contumellious

(B) Conteumelious
(C) Contumelious
(D) Contumellius

Choose  the correct alternative for the
underlined part of the given sentence. In case
no improvement is needed, choose 'No

improvement'.

That was such an interested lecture. -
-(A) interest

(B) interesting

(C) interestable

(D) No improvement




the given sentence :
She has a

(A) very

strict teacher.

(B) even
(€) to
(D) atall

Fill in the blank using the correct option :

They arrived late leaving in plenty of

time.

(A) in

(B) off

(C) despite
(D) under

Complete the sentence using the correct
option :

The Metro station is nearby and we are only
five minutes the motorway.

(A) of

(B) from
(C) because
(D) although

Complete the sentences using the appropriate
article. If any article is not required, select
hyphen (-) :

That’s __ amazing bit of news.
(A) a

(B) an

(C) the

(D) hyphen(-)

49. Fill in the blank with the correct option :

Being healthy is the __
important to me.

(A) only

(B) many

(C) of

(D)

ACA 2020

thing that is

élong

9-0

Choose the correct intensifier that best suits | 50. -

51.

52.

53.

54.

Choose the comparative form of the given
word :
Hungry

(A) Hungrier
(B) More hungry

- (C) Hungriest

(D) Hunger

Choose from the options, the correct synonym |
of the given word :-

Diminish

(A) Enhance

(B) Prolong

(C) Abate

(D) Develop

Identify the adverb in the g‘iveh sentence :

I'm always losing my keys.
(A) losing

- (B) keys

(C) always _

(D) my , E
Complete the sentence with the correct

phrasal verb from the options :

The taxi on the Way to the airport and I
thought I nearly missed my flight. v

(A) wake up
(B) look for
(C) broke down
(D) make-out

Complete the sentence using the‘ appropriate
option : ‘

We get our vegetables the farm shop.

(A) form

(B) from

(C) always
(D) although




55,

56.

- 57.

58.

59.

ACA 2020

Complete the sentence using the appropriate
article. If any article is not required, choose
hyphen (-) : o

I have a sister and __ brother.

(A) a

(B) an

(C) the

(D) hyphen(-)

Choose the correct intensifier that best suits
the given sentence :

She was so upset. I felt ____ sorry for her.
(A) extremely

(B) every

(C) atall

(D) poor

Complete the sentence with the correct
phrasal verb from the options :

The lecture till 6.30.
(A) ‘
B)
©)
(D)

came out
went on
make out
bring about

Arrange the given words into a meaningful

sentence :

if / you / any / can / me / have / you / call /
problem.

(A) Me can call you if you have any problem.
(B) You can call me if you have any problem. |

(C) Call me if you have can any problem.
(D) If you have any problem you call can me.

Fill in the blank with the suitable
conjunction : : -
He couldn't tell
crying.

she was laughing or

(A) or

(B) if
(C) off

(D) because

60.

61.

62.

63.

64.

(10 -C)

- She drove

Fill in the blank with the correct option :

A beautiful white bird flew ___ the lake.
A)
(B)
©)
(D)

during

over

whether
“yet

Complete the sentence with the correct
adverb : - '

speak again.

(A) happy

(B) tomorrow

(C) away

(D) annually E
Choose the correct option that gives the same

meaning of the bold & italicized phrase in
the given sentence :

These figures work out different every time 1
“do them. C

(A) decline
B)
©

(D)

confuse
solve

make sure

Choose the correctly spelt word :
(A) Prefre

_ (B) Prefer
(C) Preffre

(D) Preffer

Choose the correct pronoun for the sentence
given below :

Time passes so quickly when you're enjoying

(A)
(B)
©)
(D)

myself
yourself
himself
herself

before either of them could




The letter was mailed by Rishabh.
(A} Rishabh has mailed the letter.
(B) Rishabh mailed the letter.

(C) Rishabh didn't mail the letter.
(D) Rishabh was mailing the letter.

" ' 66. Fill in the blank ﬂSing the correct quantifier
from the following options : '

The news caused __~__ excitement.
(&) many

(B) both

(C) much

(D) any

g7. TFill the blank with the corréct tense from the
following options :

Meera ___ tennis on and off for three yéars. '
(A) had play |

() playing

(C) has been playing

(D) play

@8. Complete the sentence ‘using’ the correct

alternative :

I___ her for a long time.
(A) knows

(B) knowing

(C) had been known

(D) have known

69. Fill in the blank using the most appropriate
alternative :
It's to hook seats at least a week in

advance. .
(A) absence
(B) blue

Change the given sentence in active voice : | 70.

Choose the correctly spelt word from the -
following : :

(A) Miscellaneous

(B) Misllaneous

(C) Miscelaneous

(D) Miscelleneous

71. Choose the option that is antonym of the

given word.

Justice

(A) Fairness
(B) Integrity
(C) Inequity -
(D) Righteousness.

79. Complete the sentence using the appropriate

option :

If you all your money on lottery
tickets, you could afford a holiday.

(A) should't spent

(B) hasn't spend-
~(©) could't spent

(D) didn’t spend

73. Fill in the blank with the most appropriate
option : :

Tulika lived in Nagaland when she was

(A) few
(B) many
(C) alittle
D) little

| 74. Identify the part of speech of the given word

from the following options :
Projection

(A) Verb

(B) Adjective

(C) Noun

(C) advisable
(D) lean

ACA 2020
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Select the option that matches the pattern of
the given pair :
Exceptional : Conventional

Established : Fixed

Piece : Slice

(A)
(B)
©)
D)

Typical : Unigue
Gob : Lump

What is meant by the idiom “Cut the
mustard” ?

(A) To succeed

(B) To flounder

(C) To struggle

(D) To fail
Fill in the blank using the correct opﬁon :

They once lived ___
George’s Street.
(A) over

(C) to

Number 12, South

(B) for
(D) at

Convert the given sentence from Active into
its respective Passive voice.

He W111 have received the letter.

(A) The letter will have be received by him.

(B) The letter will have been received by him.
(C) The letter will have been received by her.

(D) The letter would been received by him.

79.

Fill in the blank with the correct option :

The badly neglected paintings have all been
carefully .
(A) ready
(C) make

(B) reétore&
(D) prepare

‘Complete the sentence using the appropriate
form of the word given in the brackets :

80.

Meenakshi's treatment was a *_of surgery,
~ radiation and drugs. (Combine)

(A) combined
(C) combine

(B) combination

(D) combines

81.

82.

83.

ACA 2020
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" (B) deserts, mousse

84.

Fill in the blank using the appropriate option :

Can't you throw out that old bike ____
Tommy's ?

A) till

(B) in

©
(D)

among
of

Choose the correct and relevant option to
complete the sentenqe : ‘ ’

And with ____ like apple pie or chocolate
very few dmers can resist the third

¥

course !

(A) desserts, moose .

(C) deserts, moose

(D) desserts, mousse

Convert the following statement into future
continuous tense : ' ‘

_Tara gave a presentation at 4 o’clock in the
afternoon.

giving

4 o’clock in the afternoon.

(A) Tarawas a presentation at

at 4 o’clock

(B) Tara is giving a presentation

in the afternoon.

(C) Tarawill be giving;a presentation  at

4 o’clock in the afternoon.
D) Tara will give a presentation at 4 o’clock

in the afternoon.

Fill in the blank with the cofreét tense. from
the given options :
Amit went out and ____ the cat back in again.
(A) bringing
(B) will brings
' (C) brought

(D) did brought
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(B) SRl
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(A) HEIHSH

(C) THATIHSH

(B) &IHEA

(D). A=A

(C) Bombay ‘

" density-dependent

(14 - C)

is the study of the interaction between
organisms and their environments at the level
of an individual, a population or an entire
species.
(A) Autecology
(B) Synecology
(C) Population ecology

(D Demography

Which of these are true about Optimum
population ? :

1. The maximum population a country can
_sustain . :

1I. Optimum populatior{ is neither too small
nor too large ~

III. Optimum population is statié

IV. An optimum pqpulation is a population
that produces full employment

V. Optimum population ensures the {rery
basic standard of living in a country

(A) Only I, 1L, IVand V
(B) Only IIL, IV and V
(C) Only I, II, IIT and IV
(D) Only L IIand IV

In India, where was the first Municipal .

Corporation set up ? ,
(A) New Delhi (B) Calcutta

(D) Madras

Which of the following factors. are ‘
factors, that affect
population growth as a function of the
population density ? '
(A) Disease, competition for resources
;(B) Natural catastrophes and predation

(C) Disease, competition for resources,
natural catastrophes and predation

(D) Disease, competition for resources and
predation ‘

In which part of the atmosphere does the
ozone layer reside 7 ~

(A) Mesosphere
(C) Stratosphere

(B) Troposphere
(D) Exosphere
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(A) GEATTHESS
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© aftea

(D) SIS
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(156 - Q)

Which among the following is the lowermost

layer of the Earth's atmosphere ?
(A) Stratosphere

(B) Ionosphere

(C) Exosphere

(D) Troposphere

Across which river is Nagarjuna Sagar

Masonry dam built ?

(A) Godavari

(B) Krishna

(C) Narmada

(D) Damodar

Which among the following countries is the

. largest in terms of land area ?

(A) USA.

(B) Canada

v (C) Russia

(D) China

Earthquake.generated dué to sliding of rocks

along a fault plane is called as -
(A) Reéervoir induced earthquake
®B) Teétonic earthquake

© Collai)se éarthquake

(D) Explosion éarthquake -




100. : T 3 o Ted § W 98 ofc|100. ___ are loop-like channel patterns which. 2
TFeT WA T T % ‘ : develop over flood apd delta plains.‘ - %
(a) BaEI ' - .(A) Cirques ,
(B) ERR] » (B) Meanders
(C) TEAFETZE ' ‘ (C) Stalactites
o fWE | | (D) Moraines

101. H%ﬁ > {U%‘T @rarﬂ%r T I = ﬁ'ﬂ' ¥ 101. The force exerted by the rotation of the Earth

is called which of the following ?
3T HgT ST § ? |
(A) Pressure gradient force
INEHERENELIEN] ‘ " (B) Coriokis
NI : oriolis force
® ; e (C)F't’ 1 force
© T | : | o .erc 101:1h orce
. » . ‘ ' one of these
D) =H T FHIE ARl

: e : 102. HOW are Tropic of Cancer and Tropic of
102. qq%ﬂ%mﬁwﬁﬁwaﬁ'{WW‘ | P

Capricorn positioned with respect to - the
F 8 li%iwg? , Equator ? .
(A) b .t@' l 3ﬁ—{ TR T SRl qHed Nl (A) Both Tropic of Cancer and Tropic of
F AL % ' Capricorn are parallel to the Equator
®) Fen @l '{ng. el IRINRS % s‘aiéﬁ (B) Tropic of Cancer is parallel while Tropic
HHT TET m% , , of Capricorn is perpendicular to the
(©) % @ et XET F A § SEICH ~ Equator , -
CETEC] HTI'IT‘I—(% (C) Tropic of Cancer is perpendicular while
(D) % T@T. SRS TFT L@l =T qHET LGl _ Tropic of Capricorn is parallel to the
¥ sfererer % ‘ Equator _ o
(D) Both Tropic of Cancer and Tropic of

108, & AT a; e T, AW B THL Capricorn are perpendicular to the

l'{ll[ (T ‘ ‘ Equator
o fErTwaT ﬁ\'ﬁ SEOTHISH q glf“ % 21| 103. Based.on the ‘g’iven characteristics, identify
T _@?ﬁ % I : : the type of rainfall :
e Iy T '@%f T g8 FAL I5HL CE]l @?ﬁ' e  Occurs mostly in tropics where it is hot.
g WW@W?&%WW%%I e When air is hot it rises and cools and
o =T ot T '@%f o, 9E a5 i condenses, forming rain.

SRR 5T % S 1A {H'a' HT@'-W a e If the air is hot enough, it rises very

quickly and can cause thunderstorms.

gEATE 1
(A) R ELIRECEL : (A) Orographic rainfall
®) ANt o ' (B) Cyclonic rainfall
(C). ﬂT*THfﬁWT _ (C) Monsoonal rainfall

BSEERIRER SR (D) Convectional rainfall

ACA 2020 (16 - C)




104. SIS gy § 99 & & & g £ 3|‘¢—§§3?f 104. In the Indian tradition, a yéar is divided into .

ﬁ' ﬁ"ﬂ IECRERIBSIEL %I thIH-HT IEET six two-monthly seasons. Which of the options

ITH Flﬁ I Y FLTAT 2 corresponds to them in correct sequence ?

(A) 1.FET - 2. 991 — 3. H°7 — (A) 1. Vasant — 2. Varsha — 3. Grishma —
4.9 — 5. TAT — 6. forfore 4. Sharad — 5. Hemant — 6. Shishir

B) 16T — 2. 7 — 3. 991 - (B) 1. Vasant — 2. Grishma — 3. Varsha —
4. 9TF — 5. FHA — 6. AR 4. Sharad — 5. Hemant — 6. Shishir

() 1.99d — 2. A — 3. 99T — _ (C) 1. Vasant — 2. Grishma — 3. Varsha —
4. 9%F — 5. fafeR — 6. gHT 4. Sharad — 5. Shishir — 6. Hemant

(D) 17T — 2. ITSH — 3. ZHT — (D) 1. Vasant — 2. Grishma — 3. Hemant —

4. 9ITE — 5. 991 — 6. AT 4. Sharad — 5. Varsha — 6. Shishir

, . . , 105. Determ'ne the local time of Iﬂdia hen the
5. At (0°) F TET F 12.00 TS T AT e v ,
. time at Greenwich (0°) is 12.00 noon.

7 T FA Rt f | f
(A) €TH ¥ 4.30 (A) 430PM - - )
(B) T ¥ 6.30 |  (B) 6.30 AM - E
(C) SITH % 5.30 (C) 5.30 PM |

(D) FAE  5.00 (D) 5.00 AM

106. = o FyT Yo ifE w7 W 106. Which of these countries lies partly in the
4 . . . Asian continent and partly in the European
TETET § i i w & I wRET |

i R continent ?
W | (A) Greece
®) m@;r | (B) Jordan
(C) =t | (C) Turkey
(D) Fﬁﬁ‘éﬂ ' (D) Syria

~ ACA 2020 | | (17 - C)
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(A) AT ST
(B) TaE ATZERIEAL
© frmadl
(D) e HEA

'm@ﬁmﬁ%ﬁ%@wm@’ﬁ
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(A) AU (B) W™
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Satod Ya e W T FwEE
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&) FE

@) TEa T

(©) T

(D) S AT

ACA 2020 . (18

107. Which of the followiﬁg country was chosen by
UNWTO as the host country to celebrate
World Tourism Day, 20197

(A) India ~ (B) Singapore
(C) Indonesia (D) Thailand
108. US President Donald Trump has named whom

among the following as his new National

~ Security Advisor in September 2019 ?
(A) Joseph Bolton
(B) Robert Lighthizer
(C) Phil Murphy |
(D) Robert O’Brien
109;_ The Kajin Safa lake, discovered recently byv a

team of mountaineers, is located in which of

the following country ?
(A) Nepal (B) Bhutan
(C) India (D) Tibet -

110. Who is the present Execuﬁve Chairman and

Chief Executive Officer of e-commerce group
Alibaba ?

(A) Chee Tung
(B) Daniel Zhang
(C) Jack Ma

(D) Jerry Yang

111. Mangdechhu Hydrbelectric, Project is located

in which country ?
(A) China .-
(B) Indopesia
(C) Bhutan

(D) Thailand

-0
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o7 TOe, 2019 FT TEANHT RIS T F

AT SEAECRIRIN
(A) 203t (B) 21af
(©) 18at (D) 15at

O § O B wr e T SAERT 2020
¥ foru smfReRTivs &9 & |1 40 ?

(A) TITE () T

©) wa g (D) FEAT

e g T ot 2

(A) 12 SFTE, 2019
@) 20 [y, 2019
(C) 20 3TE, 2019
(D) 12 e, 2019

mzowﬁeﬁ%rﬁﬁ‘#am,sﬁg@r
Al ¥ ey ¥ R R # w &
gftrg =rien Y ATHHAT § 2 |

(A) TEATSE Rt

®) e #E

L © I G

(D) TEATHT TG

forer & & T Tro T o R 2019
ST AT G e AT AT

(A) TISTEITA B

(B) g

(€) ST TR

(D) % fReet

(19

112.

On September 27, 2019, Tech giant Google

celebrated its birthday.
A) 20t (B) 21

(©) 18th (D) 15t

113. Which of the following movie is India’s official

entry to Oscars 2020 ?
(A) Badhai Ho (B) Gully Boy

(C) Kabir Singh (D) Badla

114, When did Prime Minister Narendra Modi
T WA A Wier F T "I g TTSTAT

launch the Kisan Maan Dhan Yojana ?
(A) 12 August, 2019

B) 20" September, 2019

(©) 20th August, 2019

(D) 12t September, 2019

115. ‘Lessons Life Taught Me Unknowingly

116.

e

launched in August 2019, is the autobiography

of which of the following renowned

personality ?

(A) Nawazuddin Siddidui

®) -Milkha Singh

(C) Anupam Kher

(D) Taslima Nasreen A

"Jan Soochna Portal" has been launched in

September 2019, by’ which of the following

State government ?
(A) Rajasthan

(B) Haryana

(C) Uttar Pi'adesh(

(D) New Delhi
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120.

)

Name Sri

In September 2019, with an aim to spread
awareness about child and women's nutrition,
of Child
Development and Mission Shakti of Odisha in
collaboration with UNICEF unveiled a mascot

named

Department Women  and

(A) Titli Mausi
(B) Gattu Chacha
(C) Tikki Mausi

(D) Gappu Chacha

Lanka’s first ‘satellite that was
launched into space in 2019, from NASA’s
Flight Facility on Virginia’s east shore.

(A) Lanka-1
(B) Cygnﬁs—l
(C) Birds-1-

(D) Raavana-1

Who among the following became Britain's

first Indian-origin Home Secretary ?
(A) Baroness Verma

(B) Dolar Popat

(C) Baron Paul

(D) Priti Patel

Who became the first pilot of the Indian Air
Force (IAF) to do a Wing Suit Skydive

Jump ?

(A) Amit Ranjan

(B) Rahul Basoya
(C) Tarun Chaudhri
(D) Shashank Singh




TAT TR A o THTT & SIafh T 31T 2)
ErEiccl
(A) 169
(C) 256

(B) 400
D) 175

122, e w31 ¥, R o Rt & & sy w7 Qe
AT S 7R & T e gen H o ¥
HATT  TE T 4T hY I T 8 |
XX_ZZYX_YZZYXXY_Zy_XyZZ_

~(A) yxzxy (B) yxzyx

(C) yxxyz (D) xxzyy

123, <o 12 TR, aferor & srar @ | fe T e
e 14 ToedY. ==rar 8 | e, 9 ot e
14 Y. =¥7aT € | SO a7e, 77 =18 qEar
3T 16 el straT & | T &, =g ard gear
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(a) o T, (B) 2423 Tt

(©) 458 . (D) 229 fefY.

. HEW, T 30T T F U eqwd § e
A o it o afer e st § R
T TE wRA T T AN FT vzt oA
o) g%szr%n%%rmwﬁﬂ‘%wﬁ
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123.

124.

(21 - C)

In the following question, four numbers have
been g‘iven out of which three are alike in
some manner while one is dlfferent Choose
the odd one out.

(A) 169
(C) 256

(B) 400
(D) 17 5

In the following question, select the set of
letters from the given alternatives which
when sequentially placed at the gaps in the

_given letter series, completes it.

XX_ZZYX_YZZYXXY_Zy_XYZZ_

(A)  yxzxy (B) yxzyx

(C) yxxyz (D) xxzyy

Deepak goes 12 km south. Then, he turns left
and moves 14 km. Then, he turns to the right
and moves 14 km. After that, he turns right
and goes 16 km. Again, he turns right and

goes 16 km. Then, he takes a left turn and

moves 2 km. Find out.the distance between
his starting point and his current position.

(A) O0km (B) 2423 km
(C) 4+/58km (D) 2v29km

Mahesh, Suresh and Rupesh had dinner at a

restaurant. The entire amount of bill was split -

in three parts. Mahesh paid 1/31 of the total
amount. Suresh paid—7/15/ﬂ1 of the amount paid
by Mahesh. The rest of the amount was paid
by Rupesh. Find out the fraction of the bill
paid by Rupesh.

22 ' " 93
(A) 15 (B) 1
21 8
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zr_i%"r'é'ﬁ‘crw%'+'aﬁ, ' SR w8
WO, M R T T - &, K
WT% %' Eﬁ, _?ﬁ',
19M14H10T2K5=2

(A) 23

(B) 26

©) 29

(D) 31

el Ry (e AT w A

wﬁwﬁamﬁﬁﬁaﬁ?—meﬁﬁw

qT T ?
(A) Paragon

(B) Paradigm

_(C) Paradox

(D) Parade

B3KG5PD7'9ERJIMT6ZH
Q3W2A

mm%ﬁzﬁﬁqwﬁﬁ %)
% o a7 FrETRTRE # & A ST
Srofy sy =R ?

3GP, D9R, JM6, ?

&) ZQW '

®) ZHW

(©) KPT

(D) RJT

fgffem & 20§ ®@ar o 9=
REORGANISATION 9758 % 91Tl & g1 a1
qHAT S ? |

(A) STATION

(B) ORANGE

(C) NATION

(D) REIGN

(22
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125.

126.

127.

128.

- C)

(A)

If 'T" denotes '+', 'H' denotes '+,
"K' denotes 'x', then,

19M14H10T2K5="?

"M' denotes ',

23
26
29
31

®
©
)

Which of the follovving words will come third,

if arranged according to the English

dictionary ?
(A) Paragon
(B) Paradigm
(C) Paradox
(D) Parade

B3KG5PD79ERJIMTEZH
Q3WZ2A

What should come in place of the question
mark (?) in the following letter/number series
with reference to the above sequence ?

3GP, D9R, JM6, ?
(A ZQW

B) ZHW

(C) KP7

(D) RJIT

Which of the following words cannot be
formed from the ‘letters of the
REORGANISATION ?

word

(A) STATION
(B) ORANGE

(C) NATION

(D) REIGN




129. TR T e 9T # ANTICIPATION T
~ ICITNANOITAP for@T STaT 81 99 e &
PRODUCTIVITY & ¥ T ST ?

(A) CUDORPYTIVIT
(B) CUDORPYTIUIT
(C) CUDOPRYTIVTI
(D) CUDORPTYIUIT

. AxB HTARTE A, B T8I, ‘A + B 3T
T & A, B T I &, A - B’ &7 qreqd g
‘A, B & 92T &l 39 WHHET F e 9
HITP- QxR+ SHPFTS T FT TG & ?

(A) T
(B) @eT
(C) &TET
(D) =TT

. Fraferfa w7 &, =1 oz R 7w & Rl
AT TF T T A § S U d9w 2
o =+ ~

A TE=

B) T

(C) SaLF

(D) HTEHERT
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A ===,
®) >, , >
0) >« = <
D > ===
ACA 2020 (23 -

129,

130.

131.

In a certain code language, ANTICIPATION is
written as ICITNANOITAP. - How will
PRODUCTIVITY be written in that code ?

(A) CUDORPYTIVIT

- (B) CUDORPYTIUIT

(C) CUDOPRYTIVTI
(D) CUDORPTYIUIT

‘A x B’ means ‘A is the sister of B’, ‘A + B”

means ‘A is the daughter of B, ‘A — B’ means
‘A is the son of B’. On the basis of this
information, how is P related to S in the
relationshipP-Q xR+ S?

(A) Brother

(B) Son ,

(C) Grandson

(D) Grandmother

In the following question, four words have
been given, out of which three are alike in
some manner while one is dlfferent Choose
the odd one out.

© (A) Binocular

132.

C)

(B) Mirror
(C) Magnifier
(D) Microscope

Which of the following symbols should be
placed in the blank spaces respectively (in the

- same order from left to right) in order to

complete the given expression in such a
manner that makes the expressions B > N as
well as D- < L definitely true ?

B_L_O_N_D

A ===, =
B > =,=>
©) ><=, <
(D) >, =; =, =
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&) FaTE |

(B) AL

(©) FTCOTET

(D) T

ST ¥ & waw g8 T q '
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(A) FrerTEIT

(B) FefTL

() T

) =EEe
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133.

134.

135.

Which country shares its border with Uttar
Pradesh ? '

(A) Bhutan
(B) China
(C) Nepal
(D) Bangladesh

Why is Uttar Pradesh called the Sugar bowl of
India ?

(A) It consumes the highest amount of sugar

in India.

®

It imports the highest amount of sugar

from other States.

(©)

It produces the highest amount of sugar

in India.

(D) It has the highest number of sugar

patients in India.

Which city in Uttar Pradesh .has the
distinction of being the oldest continuously

inhabited city in the world ?
(A) Vrindavan

' (B) Meerut

136.

- C)

(C) Varanasi

(D) Banda

Among the following, where did Gautam

Buddha preach his first sermon ?
(A) Kaushambi

(B) Kushinagar

(C) Sarnath

(D) Chitrakoot

o

(o

2
7

F
Loy § e 7

¢




S[ET BT & 90T I Tihe T AT § 2

(A) TITST
(B) TRIEE

(©) dgarad
(D) AT

| s, i s orr @ 78 e R 2

garg |
ZrTE |
g

g |

o FT AT A4 2
(A) TS IE — AAH
(B) TST A — FHA
(C) TS T — AR

D) ﬂ?&rtraﬁ—w%a

T A | T E 2

() e SRR Fe
(B) TTEH e CaAleitol FEE
(©) ST T8 T

(D) ST fA=TT Eeame

| 197, R ¥ & AT R A o &

(B) =T A W W A A AT A
(C) AT WErEd AT SIS A # g

(D) mﬁwwa?ragﬂ-lﬁwﬁ

139, Y% F ¥ T ST ST YR F ST
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) g uRew TRAT F UF T 138,
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139,

140.

187. Which of the following city is connected to

Lord Krishna and is part of Braj circuit ?

(A) Noida

- (B) Chhattisgarh

(C) Vrindavan

. (D) Ayodhya

Which of the following is not related to Agra ?

(A) "Sulahkul Utsav', a symbol of Hindu
Muslim unity is organized in Agra.

(B) Every year Magh Mela is organised in
Agra.

(C) Taj Mahotsav is organized in Agra.

‘(D) Agra houses many Mughal era buildings.

Which of fhe followihg paif doesn't represent
Uttar Pradesh State symbol ?

(A) State Tree — Ashoka v
(B) State Flower — Lotus
(C) State Animal — Swamp Deer

D) Stéte Bird — Sarus Crane

Which of these premier institutes has no

campus in Uttar Pradesh ?

(A) Indiaﬁ Institute of Technology

(B) National Institute of Fashion Technology
(C)‘~ Indian inst_itute of Management |

(D) Indian Institute of Science

(26 - C) -
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141.

142,

() TostgE e
(D) A S

143. W'ﬁ%&fﬁwwﬁwﬁ%w%?
(4) 105 “

(C) 103

® 100
D) 101

144.

Wﬁ%ﬂﬂﬁﬂﬁ'ﬁtﬁﬁ%ﬁ@ﬁ%?

(&) 8
(©) 80

144.

(B) 83
D) 75

145. e

W%W%ww
T ST § |

<, s af wedt ()

a?rwaﬁ

(A)
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145.

In 2002, which of the following city

Pradesh was declared as

in Uttar
“Biotechnology

- City”?

(A) Lucknow .
(B) Noida '
(®) Kanpﬁr

(D) Prayagraj

. In Uttar Pradesh, Uranium is found in which

of the following location ?

(A) Rajhgewan in Banda district

(B Lalitpur district ‘

(C) Mirzapur district

(D) Sonebhadra district

., How many members does Uttar Pradesh

- Vidhan Parish‘ad have 7
(A) 105 (B) 100
() 103 (D) 101

Into how many districts is the State of Uttar

Pradesh divided 7
A) 78 B 83

(C) 80 (D) 75

Prayagraj is also called as Sangam due to the

confluence of rivers ,
,and . .
A Granga, Gomati and Saraswati (mythical)

(B) Yamuna, Ganga and Chambal
(©) Yamﬁna, Gomati and Chambal

(D) Ganga,
(mythical)

Yamuna and  Sarasw ati
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(A) TIRYY RS

®) =Ty argwraiae

(C) TIRIT FTIE SHRITIE
(D) SfEgTT FTEEe
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B) 98.3 TR afeaaa

© 210 = wRAgET
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A) SEe FEw
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148.
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-C)

Which of the following is the chemical name of
Baking soda ?

(A) Sodium chloride

(B) Sodium bicarbonate _

(C) Sodium carbonate decahydrate
(D) Calcium carbonate .

Hydrated Iron Oxide is also commonly known
as .
(A) Steel
(C) Rust

'(B) Iron
(D) Teﬂon

What is the bo111ng point of water ?
(A) 373.15 Kelvin .

(B) 98.3 degree Celsius

(C) 210 degree Fahrenheit

(D) None of these

Which among the following laws works in
accordance for hot air balloons ?

(A) Boyle's law (B) Charles’ law
(C) Pressure law (D) Pascal’slaw

"A truck needs to have a larger engine than a

car", this-is an example of which of these
laws ?

(A) Law of inertia

(B) Newton's 15 law of motion

(C) Newton's 2°¢ law of motion -

(D) Newton's 3" law of motion

A group of Helium, Neon, Argon, ’Krypton,
Xenon and Radon belong to _

(A) Alkali Metals  (B) Alkaline Metals
(C) Noble Gases (D) Halogens

Which of the following joint connects hip and

shoulder with the rest of the body ?
(&) Hinge joint (B) Pivot joint

(C) Saddle joint

Radiocarbon dating relies on the measurement
of radioactive decay of

(A) Carbon-14 into Carbon-13
(B) Carbon-14 into Nitrogen-14
(C) Carbon-12 into Carbon-14
(D) Carbon-12 into Nitrogen-14

(D) Ball-and-socket joint



-| 154. Tracy has noticed the following symptoms in
her grandmom Deterioration of speech,

] F,iﬁ- T TR W ottt B memory and general mental faculties, due to
i : death of brain cells. What possible disease

may she be diagnosed with ?
(A) Meningitis
(B) Alzheimer's disease
(C) Hay fever
(D) Osteoporosis

155. sefifae == e “wTE\'%T ¥ e T FA-A 155. Which of the following statements are true
— about a supercooled liquid ? -

1. They flow very slowly.

11.- They have no definite melting point. -
II1. Their particles are in fixed positions:
IV. Their particles are highly disordered.
(A) OmlyI1I and IV

(B) OnlyI, Il and I

(C) OnlyI, IIT and v

@) 1,11, and IV

Iv. sﬂ%wagaamﬁw—@%r%\
(A) e 1, LAV
(B) *aaA L, 11 ST 101
(©) Faer 1, ML IV
(D) 1,1L, 101 3T IV

156, SO 9 AT ? o
) e T % T i e &

156. Howisa rainbow formed ?
(A) Only due to reflection and dispersion of f

FHTLOT : hght _ ;

(B) Fae T ¥ oA+ s e | (B) Only due to refraction and dispersion of

F/TCOT - light ‘

(C) et TR ¥ orEad AT I * (C) Only due to reflection and absorption of ﬁ

FHTLOT light , o ;

(D) ST qITEa, e A A Eq (D) Due to reflection, refraction and
' , dispersion of light

HTLIT
157. wﬁmﬁwm% ISR

@’Eﬂ' % & &5 UF a4 =5 1 SR el 3 157. The theory which explains how a huge steel

ship can float on water but a small nail will
ﬁm%ﬁ%@ﬁﬁﬁ@ﬁ?ﬁ%l sin{;iscalleg. o
(&) TTERE R | (A) Pascal’slaw
(B) W & . (B) Boyle’s law
© ETREE-AN] (C) Archimedes’ principle

‘ D) Gélileo’s law
158. ﬁﬂﬁ@rsﬁﬁ-mw%?

L ' 158. Which of the following is true ? ;
(A) TS AL STFE e FSEIEIERILIE , o , N
: 3 - (A) Halogens and Noble gases are highly

: < _ reactive :
(B) %r . AR IF il g et (B) Halogens and Noble gases are highly
el T ‘ unreactive '

(C) Halogens are highly reactive but Noble
gases are least reactive
(D) Halogens are highly unreactive but Noble
gases are highly reactive : :

ACA 2020 ' ’ (28 - C)




159. Tg, ST % TH WE A AT,
wmﬁﬁﬂﬁﬁwzﬁ?
(A)  FIEA (B) TR
©) el (D) 3T

160.-%&%@6"&7%%3&@?%?&

e T AT [T ?
(o) HIEFHE T
(B) HEUE TS
(©) afeEe Rt
(D) FALEA UIF

161. FL T e AT |

@ g (B) ST
(©) IS (D) TESTRl

L62, =TT S & & B 37 AT siadeq woe %
e TR % e A S E 2
(A) T (B) HTHAR
©) T (D) IFFA

163.WW%QW%T@WW?%
- =R A AT a?r?mr{%zn?
(&) T[T I
(B) T FAA
(©) TEFIE FHTo
(D) TEE AT

o FEATH Tt AT T 7
(a) Tty o7 e TR
(B) TR T ATEITET HiTSTE
) Tt i stray AR

ﬁaﬁ%ﬁﬁﬁaﬁmﬁamﬁﬁiﬁ

159. Which among the following was the cap1tal of
‘Magadha, one of the greatest of all the

kingdoms ?
(A) Kosala _ (B) - Pataliputra
(C) Kashi (D) Anga

Who was the founder of Slave dynasty and
inaugurated the Delhi Sultanate ?

160.

(A) Muhammad Ghori
(B) Mahmud of Ghazni
(C) Bakhtiyar Khilji

(D) Qutb-ud-din Aibak

161. Akbarllwas the son of
- (A) Humayun | (B) Babur
- (© Aurangzeb (D) Shahjahan
162. The content of which of the four Vedas is - :
connected with “Knowledge of the Melodies”, ,
for chanting ? . )
(A) 4 Yajur.V'eda (B) Sama Veda
(C) Rig‘Veda = (D) Atharva Veda %
163. Who compiled 'Alamgir Nama' - History of

first ten years of Aurar_lgzeb's reign ?
. (A) Gulbadan Begum

(B) Abul Fazl

(C) Muhammad Kazim

(D) Muhammad Waris

164. Which of the following was an architectural
work by Aurangzeb ?

(A) Lal Qila at Delhi .
(B) Badshahi Masjid in Lahore
)y J amé Masjid at Delhi

(D) ST T AT WEHA

ACA 2020

(D) Taj Mahal at Agra
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- 165.

166.

167.

168.

e g aE F At & & B

TrorrEl 4 T o ?

(A) WERE S HIEEHE A

@) HrErEE T R g S
(©) i st ST TS SR

(D) %ﬁa?mﬁaﬁtqaaﬁwaﬁw

%ﬁ%%@aﬁﬁ%ﬁﬁﬂ(mf?r%)ﬁ
STALTTIT & 2 |

() g aH

B) RRad

©) SHaH

D) o g

e 3 & P e 3 RreTg Y ane AT
¥ = ¥ T T S AR § 7
(A) T aTe e | |
®) TEV T aga-dy e T A e
(©) W%ﬁwm—wwﬁ

e T, S, AT U & e F
T TE ATH 2 & & |

(D) e g agd & i 7@ AT |

{

e ¥ e T s deE 6
sﬁ@wﬁ:w@awﬁa@ﬁm
TE? |

(A) SERTIST — ST THHAE

®) AR - H TS

(©) ATHAY — HIUHST THRAS

D) T — R 3

(30 - C)

165. Who among the following are the Kings who

fought in the Second battle of Tarain 7
(A) Jayachandra and Muhammad_ Ghori

(B) Muhammad
Chauhan

Chori and  Prithviraj

' (C) Bakhtiyar Khilji and Prithviraj Chauhan

(D) Mahmud of Ghazni
Chauhan

and Prithviraj

. Which of the following faith has the concept of |

Tirthankara (or the teacher) ?
(A) Buddha faith |
(B) Hindu faith

(C) Jain faith

(D) Sikh faith

167. Which of the following type of marriage can be

described as Endogamy ?
(A) Marriage outside the unit.

(B) The practice of a man having several
wives. ‘

(C) Marriage within a unit — this could be a ﬁ
kin group, caste, or a group living in the :

same locality.

(D) The practice of a woman having several
husbands. ‘

168. Which of the following ancient international

port is not correctly 'alignec'l to its respective "

coast 7

(A) Barygaza — Gujarat coast

(B) Muziris — Kerala coast

(C) Arikamedu — Coromandel coast

7 (D) Tamralipti — Indus delta




169. e ST ST ﬁ 1 Rl gl 169. Wh].ch Brltlsh officer ordered for Jalhanwala

et =T T areer T AT 7 Bagh shooting?
(A)_ ﬂﬁﬁ'ﬁ - (A) Lord Minto
(B) aﬁw v ‘ (B) Lord Curzon
(@) WS e (C) Lord Hardinge
(D) ST ‘ (D) General Dyer

170. e ¥ I HETT el CUSEIIRET TE 170. Who among the following was known as

T ®q H/ ST SATAT % ? Mahatma Gandhi's political guru ?
(A) TS FEOT MRS (A) Gopal Krishna Golhale
®) AT A (B) Justice Ranade
(C) STETATS A . (C) Dadabhai Naoroji
(D) T TR e ’ (D) Bal Gangadhar Tilak
10%1‘ ‘{Téﬁl' 'EhTaﬂ' T T e (ﬁ"%@?) 171. Who was the first Indian woman to become
ECEECIET qﬁﬁ‘ S IEGIT ] -qu;;r[ Fafre President of the Indian National Congress
(A) U?ﬁ e Party ?
(A) Annie Besant
® ) . TR : (B) Sarojini Naidu
© =T Tﬂ%ﬁ (C) Indira Gandhi
(D) FHAT 31_&"5 (D) Kamala Nehru

172. %—i et gwﬁa'i% sfafaTT, 1856 =Y 172. The Hindu Widows Remarriage Act, 1856, »
ARG IR Aarrfea & o B W\Tﬁ' F T was passed mainly due to the efforts of whom

N EGRECIRIE LRI v among the following ?

() dfed TIT TS W (A) Pandit Ishwar Chandra Vidyasagar
(B) TR A | . (B) Rajnikant Sen

©) wEfEr 5 (C) Jyotiba Phule

(D) SETETY SRR E5 , (D) Jagannath Shankar Seth

173, S@] THS # TTIAT ﬁ};ﬁ%’%ﬁ' T T e | 173. Who among the following was the founder of

¥ 2 ‘ Brahﬁb Samaj ?

(A) TETHT TAEE Hm?ﬁ' : (A) Swami Dayénand Saraswati
(B) A TS T (B) Keshub Chaﬁdra Sen l‘
(C) TSI X Hige T - (C) Raja Ram Mohan Roy

(D) WETEH e TATE | (@ Mahadev Govind Ranade
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174,

175.

176.

- 171.

178.

v. g g
V. dgeddis
' eTfHe steraeaTd

T AT AT WeETRd w6 (| 174.

"SI STATE et ﬁ?ﬂ%%@?
(A) TR oA

®) feswema ¥

(©) SRR = FEATETT

(D) THwATT &ML

e o TR TedT F RO m%ﬁ-@ﬁ T
Wmm%ﬁmm?

(A) <TTET ST T A T

(B) e i i gl

() =T =T ° B

() FrgTeT et i Feward

1857%%@3%%%3@‘&%%
¥ TR T § FEtRE we e @ oA e

(A) STH FSLT HgA

(B) @BIET Mg AR 1L

(C) aToTE AT AT

D) Wag@( 1.

W@ﬁmmwsxgwmv

(A) FTET, 1942

(B) T, 1930

©) f&de, 1920

(D) HTAL, 1919
sﬂﬁ@raﬁﬁxﬁwwﬁ?ﬁmgm
ST o &Ta H 3% 2

1. ufgeret S SET

I STfaeTes ST EgeAdn

ML STt # forer |

(A) eel I, 1 A 11

(B) Fae IV, V3T VI
(©) Fae I, 101, IV 3V
(D) I,1TI, IIL, IV, V 3T VI
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" the liberation struggle ?

175.

1786.

(O September, 1920

178.

Who wrote "Amar Sonar Bangla" to inspire {‘

(A) Rajnikant Sen ’ o ¢
(B) Dwijendralal Ray
(C) Bankim Chandra Chattopadhyay
(D) Rabindranath Tagoi"e ’

Which of the following 1nc1dent resulted in the

withdrawal of Non- Cooperatlon Movement, by }
Gandhiji ?

(A) Death of Lala Lajpat Rai

(B) Assassination of Colonel Saunders.
(C) Violence at Chauri Chaura ‘

D) Arrest of Mahatma Gandhi |

Who was the last Mughal emperor captured
after 1857 revolt and exiled to Burma ? ’

(A) Begum Hazrat Mahal
(B) Bahadur Shah Zafar II -
(C) Wajid Ali Shah

D) Khan Bahadur

When vs}as the Quit India Movement
launched ? -V
(A) August, 1942
B) kMarch, 1930

(D) February, 1919

‘Which of these were the major social problems :

which came within the purview of the reform
movements ?

I. Emancipation of women

II. Casteism and untouchability
III. Education in society |

IV. Idolatry =

V. Polytheism

VI. Religious superstitions
(A) OnlyI, II and III

(B) OnlyIV,Vand VI

(C) OnlyL II, IV and V
(D) I II, 1L, IV, V and VI
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180.

181

182.

183.
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() et wiatEteEt § s ST Fwra
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179, Classical dance form Dhumal is from which of

the following States 7 .
(A) Maharashtra (B) Kashmir
(C) Mizoram (D) West Bengal

. Which of these is a subject of State List ?

(A) Currency & Coinage
(B) Ports

(C) Prison

(D) Banking

. Under the Indian Constitution, which one of

these, is not 1dent1ﬁed as an emergency
provision?

(A) National Emergency
(B) Communal Emergenéy
(C) Financial Emergency

(D) Failure of constitutional machinery in
State/s or President’s Rule

. What does Personal Disposable Income refer

to?

(A) Personal Disposable Income (PDI) =

~ Total Income of an individual

(B) Personal Disposable Income (PDI) =
PI — Personal tax payments — Non-tax

~ payments

(C) Personal Disposable Income (PDI) =
PI - Personal tax payments

(D) Personal Disposable Income (PDD =
PI — Non-tax payments

. Which among the follovving does Recession

refer to ?

(A) A strong upward fluctuation in “the

economic activities

(B) General fall in demand as economic
activities takes a downturn

(C) An economy tries to come out of low
production phase to survive

(D) An extremely low aggregate demand in
- the economy causes activities to
decelerate :




184. T TSI | SRS EIE G
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(A) HEW

185.

186.
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Iv.
TTIAT
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(C) . I, 1IL IV 3T V

(D) 1,11, I, IV &V
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(A) o[ HTaT
(B) TR
(©) waAfrET

D) & "
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184.

185.

186.

C)

V. To promote the spirit of common

(A)
- B

All  States uniforin three-tier

Panchayati Raj structure. Which among the

have a

following doesn't belong to Panchayati Rajé

structure ?

(A) Mandal

(B) Gram Panchayat
(C) Zilla Panchayat -
(D) Nagarpalika

Which of the following are true about:

Fundamental Duties mentioned in the

Constitution ?

I The duties are justiciable in nature.

II. To protect the sovefeignty, unity and
integrity of the country.

IIL. The original Constitution did not provide
the Fundamental Duties of the citizens
but it was added later.

IV. To respect the Constitution, National ﬂag‘

and National anthem.

brotherhood amongst all the people.
I, Il and IV

II, 11, IV and V

I,1I,IVand V

I, 11, 111, IVand V

(©)
D)

The spread of Indian heritage can easily be

witnessed by the largest Shiva temple located
in :

(A) Abu Dhabi
(B) Indonesia
(C) Malaysia
(D). Russia
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187.

188.

189.

Which of these characteristics will disqualify
an individual from contesting an election ?.

(A) 25 years (or more) of age .
(B)‘ No criminal background
(C) Unsound mind

(D) Minimum educational qualification up to
Class 10th

What is pocket veto ?

(A) The President neither ratifies nor rejects
nor returns the bill, but simply keeps the
bill pending for an indefinite period.

(B) The President exercises this veto when he
returns a bill for reconsideration of the
Parliament.

(C) Power of the President to withhold his
~ assent to a bill passed by the Parliament.

(D) The President has veto pbwer with
respect to State legislation also. '

Which of these is not a necessafy condition for
a party to become a "National Political Party
of India", as per the criteria set by the
Election Commission ?

(A) To secure at least six perc'ent'of the valid -

votes polled in any four or more States at
~ a general election to the House of the
to the

People or, State Legislative

Assembly

(B) Should have contested at least 6% of the
" total seats in the House of the People or,
to the State Legislative Assembly

(C) Wins at least two percent seats in the
House of the People (i.e., 11 seats in the
existing House having 543 members), and
these members are elected from at least
three different States

(D) Wins at least four seats in the House of
the People from:any State or States

he
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190.

191.

192.

193.

- C)

Which of the following effects can be
attributed to the heavy subsidy on electricity ?
Distortions in the cropping pattern, '
Adverse . environmental effects
water-logging and salinity,

Depletion of groundwater levels,

like

Long term implications for inter- reg‘lonali
disparities. '

(A) Orﬂy distortions in the cropping pattern, :
effects  like
water-logging and salinity -

Adverse environmental

(B) Only adverse environmental effects like
water-logging and salinity, Long term

implications for inter-regional disparities
(C) Only depletion’ of groundwater levels,
Long term implications for inter-regional
disparities »
in the cropping pattern,
effects like
water-logging and salinity, Depletion of
groundwater -

(D) Distortions

Adverse environmental

levels, Long  term

implications for inter-regional disparities

Which of these 6ptions is not included under a
National Livestock Breeding strategy (under
animal husbandry) ? "

(A) Milk
(C) Fish

(B) Meat |
(D) Egg

What type of land is used to produce crops ?
(A) Fallow land (B) Grazing land
(C) Cultivated land (D) None of these

Identify the soil which is rich in organic

matter, calcium, potassium and magnesium.
(A) Black Soil (B) Red Soil
(C) Laterite Soil (D) Alluvial Seil
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194. Which of the following are the Greenhouse

195.

196.

197.

C)

Gases (GHGs) ?

(A) Water vapour, carbon d10x1de oxygen,
methane, nitrous oxide

(B) Water vapour, carbon dioxide, methane,
nitrous oxide, ozone

(C) Methane, nitrous oxide, carbon monoxide,
ozone

(D) Water vapour, carbon dioxide, oxygen,
methane, nitrous oxide, carbon monoxide,
ozone .

Which of the following is an example of
Resource Conserving Technologies (RCTs) ?

(A) - Rice-wheat consortium

(B) Agro-forestry in hilly areas
(C) Zero tillage

(D) None of these

Which of these are not Non-tariff Barriers to
Trade ? ‘

(A) A complete ban on imports

(B) Import quotas and
restrictions

quantitative

" (C) Food safety and quality restrictions

(D) Imposing taxes

Which of these correctlylidentiﬁesk the logistics
of infrastructure of a cold chain ?

(A) Pre-cooling facilities — Cold storages —

Refrigerated carriers — Packaging
warehousing — Information management
system

(B) Pre-cooling facilities — Refrigerated
carriers — Cold storages — Packaging
warehousing — Information management
system

(C) Pre-cooling facilities —  Packaging
warehousing — Refrigerated carriers —

Cold storages ~ — Information
management system ‘ '
(D) Pre-cooling facilities - Information

management system- — Refrigerated
carriers — Packaging warehousing —
Cold storages
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199.

L

(A)
(B)

- D

200.

198. The benefits of Watershed are to

I. increase the cropping area intensity

IL.
I1I.

minimise the problem of soil erosion

promote low yield, low value cereals like
finger millet ‘

increase the number of working days per
year in comparison with non-watershed
areas

V. increase yields ranging from 10 to 100%

result in quantitative improvement
1,11, Il and IV

111, IV, V and VI

LI, IVand V

I, 11, 111, IV, Vand VI

(A)
(B)
(©
(D)

Which of the following statements is true
about Tillage ? -

I.  Reduces soil’s organic mattér content.

Negatively affects the air and water
quality.

III. Decreases carbon dioxide emission.

IV. Farmers are discouraged_ to adopt ‘zero

tillage’ practices.

Tand I1

II and 11
111 and IV
I and III

©

Which specific terminology is related to
cultivation of grapes ?

(A) Sericulture

(B) Pisciculture

(C) Viticulture

(D) Horticulture
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IMPORTANT INSTRUCTIONS :

Read Carefully

1. Do not break the Question Booklet seal until o
told to do so.

2. For writing or marking answer, use a ’
BLUE/BLACK ball point pen ONLY, which
you were asked to bring with you.

3. Mark all your answers on the OMR Answer
Sheet only. Only the OMR Answer Sheet will

be evaluated.

N

4. Mark only one answer for each question.

Make sure that answer mark completely fills

S:Q’l

the correct circle.

Correct way to mark your answers

Correct

@ ® @ 0]

Do not mark like this
Wrong

® 6 &0
® 6 C0
® 0B ®0
® GO0
® Q=D

CAUTION 11!

If you do not follow the above instructions, your

Answer Sheet cannot be evaluated by the .

electronic scoring machine (Optical Marker
- Reader), and it will reject it.
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THE  CANDIDATES MUST READ THESE
INSTRUCTIONS CAREFULLY BEFORE ATTEMPTING
THE QUESTIONS IN THE QUESTION BOOKLET.

1.

8.

Please refer the backside of the Question Booklet
for more instructions.

40 pages. If any discrepancy is found, report to the

“in the Question Booklet).

Mark carefully your Roll Number, Application
Number, Question Booklet Number and Question
Booklet Series on the OMR Answer Sheet and sign
at the appropriate place. Write your Roll Number
and Name on the Question Booklet. In the absence
of Roll Number, Application Number, Question
Booklet Number and Question Booklet Series on
the OMR Answer Sheet, it may NOT be evaluated
and it may be cancelled.

The entire Test is of Objective Type Questions
comprising 200 questions. All questions are
compulsory. Each question carries One Mark. There
is no negative marking for any wrong answer.
Questions are in both English and Hindi.

The candidate must check that the Question
Booklet contains 200 multiple choice questions in

invigilator immediately.

Chosen options are to be indicated only on the OMR
Answer Sheet, as per instructions given on the
OMR Answer Sheet, taking care to enter the
answer in the space prov1ded in the OMR Answer
Sheet for the concerned question number (as given

The candidate must use a BLUE/BLACK ball point
pen ONLY to make entries on the OMR Answer Sheet.
Rough work may be done on the space provided in this
Question Booklet, but not on the OMR Answer Sheet.

At the end of the Test, the candidate must submit
the OMR Answer Sheet to the invigilator on duty.

Candidates are free to take away their Question
Booklet with them.

In case of any ambiguity in translation of .any
question, English version shall be treated as final.
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1 26 146 178 B
2 27 147 179 C
3 28 148 180 A
4 29 149 181 B
5 30 150 182 C
6 31 151 183 C
7 32 152 184 D
8 33 153 185 L B
9 34 154 186 B
10 35 155 187 D
11 36 156 188 D
12 37 157 189 C
13 38 158 190 C
14 39 159 191 B
15 40 160 192 D
16 41 161 193 A
17 42 162 194 B
18 43 163 195 C
19 44 164 196 B
20 45 165 . 197 B
21 46 166 198 C
22 47 167 199 C
23 48 168 200 D
24 49 169 85 D
25 50 170 86 A
26 51 171 87 B
27 52 172 88 A
28 53 173 89 C
29 54 174 90 D
30 55 175 91 C
31 56 176 92 B
32 57 177 93 A
33 58 178 94 D
34 59 179 95 B
35 60 180 96 C
36 61 181 97 B
37 62 182 98 B
38 63 183 99 B
39 64 184 100 D
40 65 185 101 B
41 66 186 102 B
42 67 187 103 C
43 68 188 104 A
44 69 189 105 . B
45 70 190 106 D
46 71 191 107 C
47 72 192 108 C
48 73 193 109 A
49 74 194 110 B
50 75 195 111 A
51 76 196 112 D
52 77 197 113 A
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C

79 199 115 A

55 80 200 116 C
56 81 85 117 C
57 82 86 118 B
58 83 87 119 A
59 84 88 120 B
60 85 89 124 C
61 86 90 122 B
62 87 91 123 A
63 88 92 124 D
64 89 93 125 D
65 90 94 126 D
66 91 95 127 C
67 92 96 128 D
68 93 97 129 B
69 94 98 130 C
70 95 99 131 B
71 96 100 132 B
72 97 101 133 B
73 98 102 134 A
74 99 103 135 D
75 100 104 136 B
76 101 105 137 C
77 102 106 138 C
78 103 107 139 A
79 104 108 140 D
80 105 109 141 A
81 106 110 142 B
82 107 111 143 C
83 108 112 144 B
84 109 113 145 B
85 110 114 146 D
86 111 115 147 C
87 112 116 148 A
88 113 117 149 C
89 114 118 150 D
90 115 119 151 D
91 116 120 152 C
92 1 121 153 D
93 2 122 154 A
94 3 123 155 D
95 4 124 156 B
96 5 125 157 A
97 6 126 158 C
98 7 127 159 A
99 8 128 160 A
100 9 129 161 A
101 10 130 162 C
102 11 131 163 B
103 12 132 164 D
104 13 133 165 [®
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15 135 167 C

107 16 136 168 C
109 18 138 170 B
110 19 139 171 B
111 20 140 172 D
112 21 141 178 A
113 22 142 174 B
114 23 143 175 B
115 24 144 176 D
116 25 145 177 D
117 141 28 11 D
118 142 29 12 B
119 143 30 13 C
120 144 31 14 C
121 145 32 (. C
122 146 33 2 C
123 147 34 3 A
124 148 21 7 A
125 149 22 5 D
126 150 23 6 C
127 137 24 7 A
128 138 25 8 A
129 139 26 9 A
130 140 27 10 B
131 171 65 55 B
132 172 66 56 C
133 173 67 57 C
134 174 68 58 D
135 175 69 59 C
136 176 70 60 A
137 177 71 61 C
138 178 72 62 D
139 179 73 63 D
140 180 74 64 C
141 181 75 15 C
142 182 76 16 A
143 183 77 17 D
144 184 78 18 B
145 185 79 19 B
146 186 80 20 B
147 187 81 21 D
148 188 82 22 D
149 189 83 23 C
150 190 84 24 C
151 191 35 25 B
152 192 36 26 C
153 193 37 27 B
154 194 38 28 D
155 195 39 29 D
156 196 40 30 D
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158

C
198 42 32 C
159 199 23 33 =
160 200 44 34 B
161 151 45 35 A
162 152 46 36 C
163 153 47 37 . B
164 154 48 38 - B
165 155 49 39 A
166 156 50 40 A
167 157 51 41 c
168 158 52 42 C
169 159 53 43 C
170 160 54 44 B
171 161 55 45 A
172 162 56 46 A
173 163 57 47 B
174 164 58 48 B
175 165 59 49 B
176 166 60 .50 B
177 167 61 51 c
178 168 62 52 C
179 169 63 53 B
180 170 64 54 B
181 122 11 80 B
182 123 12 81 B
183 124 13 82 A
184 125 14 83 C
185 126 15 84 C
186 127 16 65 B
187 128 17 66 B
188 129 18 67 C
189 130 19 68 B
190 131 20 69 B
191 132 1 70 A
192 133 2 71 B
193 134 3 72 C
194 135 4 73 A
195 136 5 74 C
196 117 6 75 A
197 118 7 76 A
198 119 8 77 A
199 120 9 78 A
200 121 10 79 i A
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